
LCD (16/04/2024

Hemnessy-Milmer's Logic
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closely related to bisimilarity /program equivalence

Hommessy-Milner's Theorem
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* Counterexample showing the need of image-finteress

P
,
Q PNQ and ML PFqQ +Y

Atw =E
en

o AEW = ATW+

Aw = Q
.

Aw
am = 0

.

Q .
-

- .
0

-

en times

Or & Or &

.- -E- Go -
L

a L
a

↓

for No. ... e No. ... No

↓ o ↓ o

for
do La

N ↓a

K

i
OBSERVATION :

① ATW AW EXERCISE

② genl atway if Away

* Hemnessy Milner's logic with recursion
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We use recursion for defining Inv (axT
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* Even (p) = in every complete computation there is a state

where a holds
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Exercise : Explicitly compute the semantics
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EXERCISE : We defined
EXAM
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